Week 17

Monday 13th July 2020

Year 5 Use Two Step Equations -
Varied Fluency

*Try completing the GD work at the end as a
challenge


https://www.youtube.com/watch?v=AP5MbH88cdo&t=42s

Two Step Equations

Two Step Equations

1a. Are the following statements true or
false?

i. fx=4,then2x+1=9
ii. fy=5,theny+2=7

iii. fz=3,then2z-1=4

¢

1b. Are the following statements true or
false?

i. fx=3,thenx+3=9
ii. fy=4,then2y +5=13

iii. fz=6,then2z-2=10

¢

2a. What is the correct value of c?

2c-7=13

& (15 [18] [10]

2b. What is the correct value of ¢c?

2c+12=18

L BOEE

3a. Match each equation to the correct
value of a.

2a-5=7 a=8
a+4=12 a=5
=6

8=3+a a
27

3b. Match each equation to the correct
value of a.

a-3=6 a=3

a+é6=14 a=9

9=3+2a a=8
27

4a. Fill in the missing operation to show
how to solve the equation below.

X - 6 =24

\ 4

x =30

4b. Fill in the missing operation to show
how to solve the equation below.

X + 5 =22

\ 4

x =17




Two Step Equations

Two Step Equations

5a. Are the following statements true or
false?

i. fx=6,then3x-2 =16
ii. fy=4,then2y +y=10

iii. fz=8,then0.25z+1=3

5b. Are the following statements true or
false?

i. fx=6,then05x+2=5
ii. fy=5thend4y-y=15

iii. fz=7,then3z+4=10

6a. What is the correct value of ¢?

1MMc-16=116

L7 2] (4]

6b. What is the correct value of ¢?

10c +13 =103

e o) (o]

7a. Match each equation to the correct
value of a.

a+3=12 a

0.5

+a+11=14  a=4

9=5+8a a=12

7b. Match each equation to the correct
value of a.

3a+2=12 a=10

1

S a+11=16  a=0.25

8=7+4a a=8

8a. Fill in the missing operations to show
how to solve the equation below.

5« - 7 =18

8b. Fill in the missing operations to show
how to solve the equation below.

bx + 4 = 22
¥ A
6x = 18




Challenge

9a. Are the following statements true or
false?

i. fx=12,then0.75x =9
ii. fy=7,then3y+y=5

iii. fz=9,then7-z=-1

9b. Are the following statements true or
false?

i. fx=8,then0.75x =2
ii. fy=11,thend4y +y =11

iii. fz=7,then5-z=-2

10a. What is the correct value of ¢?

4 C+48 = 60

(12 [30] [e0]

10b. What is the correct value of ¢?

¢ +91=100

(10) [80] | 90]

11a. Match each equation to the correct
value of a.

18a +24 = 30 a=4

a9 +17=21.5 a

1
3

-5=6a-29 a=0.5

11b. Match each equation to the correct
value of a.

20a + 36 =41 a

0.5

7a +34=37.5 a=95

— =1
-4=6a-34 a=-

12a. Fill in the missing operations to show
how to solve the equation below.

28x + 6.3 =103

¥ A

28x = 4

¥|e
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12b. Fill in the missing operations to show
how to solve the equation below.

45x + 9.6 = 14.6

¥ A

45x = 5
: 2
x =1






